FER  SF074£108028

2025FEHEHMRIILIKRE

wEhA b= ST

JIE 432 ES %4 OuT | IN | GR | HDGP NET = JIE 432 K 2 OUT | IN | GR | HDGP NET e

iz il 41| 46 | 87 |16.8 |70.2 |AK 51 |2 R= 45 | 44 | 89 | 13.2 | 75.8

ETA = 49 | 51 100 | 28.8 | 71.2 |AH 52 B MR 51 | 50 101 | 25.2 | 75.8
mE —i 38| 43|81 | 9.6 |71.4 |AK 53 a4t i 47 | 46 | 93 | 16.8 | 76.2
KE saBg 49 | 47 |96 |24.0 |72.0 |AH 54 |RH fh— 46 | 47 | 93 | 16.8 |76.2 INo,17KSa>
HE BT 43 | 47|90 [18.0 |72.0 |AH 55 R 46 | 46 | 92 |15.6 | 76.4 |Fem
IR FIER 39 | 45 | 84 | 12.0 | 72.0 56 [HH FI% 50 | 48 | 98 | 21.6 | 76.4
=18 45 | 45 | 90 | 18.0 | 72.0 57 Bl =A 42 138 80| 3.6 764
HE R 47 | 43|90 [18.0 |72.0 [Noj2=7E> || 58 |mmE Ex 42 137 79| 2.4 766
E& 1 48 | 52 100 | 27.6 | 72.4 59 |t fEi 41138 79| 2.4 766

10 PEREGE 51| 43| 94 |21.6 | 72.4 | K EYi= xx 50 | 53 103 | 26.4 | 76.6 |AeH

11 #E T 42 | 46 | 88 | 15.6 | 72.4 |~ Ay 61 |hit & 45 | 52 | 97 |20.4 | 76.6

12 |#% AF 46 | 54 100 | 27.6 | 72.4 62 Bk AN 45 |50 | 95 |18.0 | 77.0

13 B EF 49 | 54 103 |30.0 | 73.0 63 [HAR EF 53 | 54 107 |30.0 | 77.0

14 |B# BRF 48| 49 | 97 240 |73.0 64 hE EZ 50 | 50 100 | 22.8 | 77.2

5 48 | 43 | 91 [18.0 |73.0 |meH 65 45 | 49 | 94 |16.8 |77.2 |meH

16 A% BEX 50 | 46 | 96 | 22.8 | 73.2 66 |TFIL AR 42 | 46 | 88 | 10.8 | 77.2

17 %@ = 51| 45 | 96 | 22.8 | 73.2 67 i3 H= 45 | 48 | 93 |15.6 | 77.4

18 |z M 40 |43 | 83| 96 734 68 |SHE HETF 57 | 54 111 |33.6 | 77.4 |NosKSa>

19 |2 =8 3740 | 77| 3.6 |73.4 |~aym 69 [{FiE = 44 | 49 | 93 156 | 77.4

| 20 R 42| 47|89 [15.6 | 73.4 |7’ == =« 48 | 51|99 |21.6 |77.4 MK

21 |8k mk 45 | 44 | 89 | 15.6 | 73.4 7 HE B 48 | 51| 99 |21.6 | 77.4

22 |EH Ex 45 | 43 | 88 | 14.4 |73.6 72 || EE 60 | 50 110 |32.4 | 77.6

23 luO 1 57 | 49 106 |32.4 | 73.6 73 e m= 45 | 47 | 92 |14.4 [77.6

24 g EuE 43 | 44 |87 132 |73.8 4 | R EE 49 | 49 | 98 | 204 |77.6

El== = 42 39| 81| 7.2 |73.8 | KRz = 48 | 49 | 97 [19.2 |77.8 A

26 |tIB = 42 139 | 81| 7.2 738 76 @R 45 | 51 | 96 | 18.0 | 78.0

27 |24 Fr—LX 49 |50 | 99 |25.2 | 73.8 77 BB B 47 |47 | 94 156 | 78.4

28 |giniT EE 46 | 46 | 92 |18.0 | 74.0 78 86K EEA 47 | 51 | 98 |19.2 [78.8

29 W3 H® 46|39 | 85 | 10.8 | 74.2 79 |BmE X 46 | 56 102 | 22.8 | 79.2

30 ESIIES 47 44 | 91 |16.8 | 742 |WeH Y=+ =s 42| 481 90 |10.8 |79.2 |E No6=TEY

3B ETF 49| 48 | 97 | 22.8 | 74.2 81 ®F = 43 | 51 | 94 | 14.4 |79.6

32 g 36| 43|79 | 48742 82 |thE FEF 59 | 50 |18 |38.4 | 79.6

3 & ME 42 | 43 |85 | 10.8 | 74.2 83 M # 51 | 53 104 | 24.0 | 80.0

3 | FRA KB 42 | 42 |84 | 9.6 744 84 | Kk w® 51 | 57 108 | 27.6 | 80.4

El=z & 50 | 40 | 90 | 15.6 | 74.4 |Fem | 85 G 57 | 61 118 |37.2 | 80.8 X

36 |2 BET 51| 45 | 96 | 21.6 | 74.4 8 22 R 59 | 59 |118 | 37.2 | 80.8

37 R 8BA 36| 41| 77| 2.4 | 746 87 |KAt {Eth 58 | 54 112 |31.2 | 80.8

38 |FAR 43| 51 | 94 | 19.2 |74.8 88 |mE Al 47 | 46 | 93 | 12.0 | 81.0

39 O &2 44| 43 |87 12,0 |75.0 89 it mE 45 | 47 | 92 [10.8 | 81.2

El:=s =% 44| 43| 87 |12.0 | 75.0 |meH 90 P 54 | 53 107 | 24.0 | 83.0 |

N EH Yh 49 | 50 | 99 | 24.0 | 75.0 o1 [MEE 155 57 | 60 117 | 33.6 | 83.4

2 % @= 42 | 44 | 86 | 10.8 | 75.2 02 % Wz 58 | 64 122 |36.0 | 86.0 |BBE

13 % BT 47 | 51 | 98 | 22.8 | 75.2 03 [tFEM HE 73 | 66 |130 |40.0 | 99.0 BME

M B BX 45 | 46 | 91 | 15.6 | 75.4

45 R 41| 44 85| 9.6 |75.4 WH

46 \uo —m& 50 | 53 103 | 27.6 | 75.4

41 EK fE— 46 | 50 | 96 | 20.4 | 75.6

48 | XBF FH 44| 45 | 89 | 13.2 | 75.8

19 #n #m= 47 | 48 | 95 19.2 |75.8

BY 2 - 42 | 47|89 [13.2 |75.8 |me

[BRRAERIWRY 7 [BEIRM]IERESRE RLA-V]2-3-4-7-8-9-10-11-12-14-15-18




